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QID : 1 - In the following question, select the related word from the given alternatives.
Person : Biography ::?:7
frafafaa wea #f faw v fwedt 7 3 wafta wee = g

aafFa e 2:2

Options:

1) World : Encyclopedia

forem : Rasrer

2) Nation : History

g« e

3) Place : Economy

FuTe ¢« IrefEmaEEr

4) Country : Constitution

&ur : wfaumer

Correct Answer: Nation : History
g« 3faw

Candidate Answer: Nation : History
g gfeer

QID : 2 - In the following question, select the related word from the given alternatives.
Ramanujan : Mathematician : : Sushruta : ?

famafafaa v # R v faeedt 4 9 wafta weg # I

AT : O A ?
Options:

1) Scientist

EEuces

2) Architect

Elscand

3) Physician

ot

4) Astronomer

T A

Correct Answer: Physician
afrers

Candidate Answer: Architect
CIEEaES

£

QID : 3 - In the following question, select the related letters from the given alternatives.
EKMR : VPNI : : SIWG : ?
eafaflm wa 3 R v fasent # & wafta werd # gl

EKMR : VPNI : : SIWG : ?

Options:
1) HQTD

2) HMQT
3) HDTQ

4) HQDT
Correct Answer: HQDT
Candidate Answer: HQDT
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QID : 4 - In the following question, select the related letters from the given akematives.

MTBO : KRZM : : RIMD : 7
Ferefedti m & R A fredt # & wefie sent #r giw)

MTBD : KRZIM :: RIMD : 7
Options:
1) PHKB
2) PHKA
31 HPKA

4% PHBK
Correct Answer: PHKB
Candidate Answer: PHKR

QID : 5 - In the following question, select the related number from the given altematives.
11:123::12:7?
Feriafta mF A R e Rt # F wE sew F g

11:123::12:7
Options:

1) 144

2) 146

3 148

4) 150
Correct Answer: 196
Candidate Answer: 146

QID : & - In the following question, select the related number from the given altematives.
108:11664::112:7
ferfafas we & R are Reedt # @ st s 1 g

108 : 11664 ::112:?

options:
13 12504

2) 12544
3) 13644

4) 17644
Correct Answer: 12544
Candidate Answer: 12544

QID : 7 - In the following question, seledt the odd word pair from the given alternatives.

Trfaits T # By 7 Rt F 9 WA g T # 7E0)

Options:

1) Srakes ¢ Reptiles

B/

Z) Buffaly : Mammal

7 : o

3) Kiwi : Bird

1 - o

4 Parrot : Mammal

el Fdaardr

Correct Answer: Parmot : Mammal
A wd

Candidate Answer: Parrot @ Mammal
aell ¢ FeTardt

QID : 5 - In the following question, select the odd word pair from the given alternatives.

Ferafae wor # R oo fwent & & e o om = gham)
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Options:

1) Writer : Pen

Cicco

2) Doctar : Chisel

Fafeegs : ot

3) Plumber : Wrench

AAATA ¢ AL AeE FEA F ITHIT
4) Carpenter ; Saw

;o dy

Correct Anawer: Doctor : Chisel
RrRrewE © Ot

Candidate Answer: Doctor : Chisel
T

QID : 9 - In the fallowing guestion, select the odd letters from the given alternatives.

fr=fAilm w3 R v feredt # 3 Rt sast 2 giom

Optigns:
1) AD

28
3y VX

4] EG
Correct Answer: AD
Candidate Answer: AD

QID ; 10 - In the following question, select the odd letters from the given alternatives.

Fermrierfire W A Rm are et 7 3 fergm grewt 7 g

Options:
13 HILW

2) LNPR
2) suwy

4) EGII
Correct Answer: EGI]
Candidate Answer: EGD)

QID : 11 - In the following quastion, select the odd number pakr friom the glven akematives,

Frafafee nmF & By v et # 4 Rew sew i@ 3 gr|

Options:
124-6

ANaE-12
N72-24

4144-11
Correct Answer: 72 - 24
Candidate Answer: 72 - 24

QID : 12 - In the following question, select the odd number pair from the given alternatives.

Fefaiae me A R o Res! & & A o 3w = g

Options:
1)14-48

N-7
3)11-88

4)8-24
Correct Answer: 14 - 48
Candidate Answer: 14 - 48
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QID : 13 - Arrange the given words In the sequence in which they ceour in the dictionary.

1. Nested
Z. Nation
3. Nippon
4. Niger

5. Nappy

FrofiTes el 1 aeeeprel & AT AT % 3w o)

1. Nested
2. Nation
3. Hippon
4. Niger

5. Nappy

Options:
1) 52143
2) 52413
3) 21543

4) 25134

Correct Angwer: 52143

Candidate Answer: 52143

QID : 14 - Arange the given words in the sequence in which they accur in the dictionary.
1. Opperate

2. Oyster

3. Oracia

4. Dtis

5. Official

Foriafis ol Y e & IR a FF ¥ IR |

1. Opperate
2. Oyster

3. Oracie

4. Otis

5. Official
Options:

1) 51324

2) 53124

3) 53142

4) 51342
Correct Answer: 51342
Candidata Answer: 51342

QID : 15 - A senes is given with one term missing. Selact the correct altemative from the given ones that will complete the series.
P,M,1G?

wF A fear o &, et @ v ug e 81 few v Rt # 3 3w wé fawer g, S agEs a g )

P,M,J,G 7

Optons:

1NE

2cC

3F

40
Correct Answer: O
Candidate Answer: D

QID : 16 - & series is given with one term missing. Select the correct altemative from the given ones that will complete the series,
AA, DE, IC, PD, ?
ww yawA fear e §, Soradt § v ug Fod 81 e oo faweat & & = wd fawew g, S s w8 g S

AA, DB, IC, PD, ?
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Options:
1) WF

2 XE
3YE

4 WE
Correct Answier: YE
Candidate Answer: YE

QID : 17 - In the folfowing quastion, select the missing number from the given serles,
1,8, 29,92 281, 7
ferafaftns qem 3 faw e faredt & A o0 s A9 S

1,8,29,92 281, 7
Opticns:
1) 567

2) 628
3) 776

4) 848
Correct Answer: 348
Candidate Answer: 848

QID : 18 - In the following question, select the missing number from the given series.
2,7,2267,?
et wom # faw ane Reredt # W g 3@ 19 Ffam)

2,7,22, 67,7
Opticns:
13197

2198
3) 200

43 202
Correct Answer: 202
Candidate Answer: 202

QID : 19 - In 3 row of cars Maruti is 20° from the left end of row. Honda is 10t to the right from Maruti and is at the exact center of row. Haw many cars are there
in the row?

i oo T A, ArEhy TR 3T F 20 F R R ¥ ST, A ¥ 10 T G § e S & faeer wew §o o A R it §7
Options:

154

2)59

3)57

4) 56
Correct Answer: 59
Candidate Answer: 59

QI0 : 20 - Abhinav started running from his heuse, hie Miest ran for 12 km towards west, then he turned towards north and ran 16 km In that direction. How far
Abhinav is from his hause and In which direction?

TP = Jra Y I ST i R, Fg agd 12 B, uffaw £ A s, Ry 2g 3o F1 i e aur 3dh Ban A 16 Rl s pilea pes o e g
o T R A &7

Options:

1) 12 km South

13 B, 2fEm

2) 13 km North

13 BeAL 3T

3 13 km West

15 .. offaw

4) 20 ke North-West

20 .. Searofies

Cotrect Anawer: 20 kni North-West
20 5,7y, Ieav-oftas
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Candidate Answer: 20 km North-West
20 T&6 A, Fegr-uf¥aw

QID : 21 - Kunal is elder te Rohit. Vivek is younger to Sushma, and Kunal is elder to Vivek. Who is the youngest?

FAT, A ¥ g F wmr ) B, T & g F Ot A oA, R @ g A am §) g A e o A i

Options:
1) Sushma

E‘I'JIT
2) Rohit

AT

3) vivek

s

4} Cannet be determined

T AT B A A

Correct Answer: Cannot be determined
T i oy = wr

Candidata Answer: Cannot be determined
AT AT BT S waT
QID : 22 - In the following question, select the word which cannct be formead using the letters of the given word.

TRANSPORTED
ety famedt & 3 a7 =g gfew S faw 1o o ¥ smnd # qEi FE T TR S E

TRANSPORTED

Opticns:
1) PORT

2) SPORTS
3) TRAP

4) TREAT
Correct Answer: SPORTS
Candidate Answer: SPORTS

QID : 23 - In the following question, select the word which cannot be formed using the letters of the given ward.

INSTALMENTS
frfatts feredt A & 77 vz gfore S fET 10 o & SRY S SO S T8 TR S S

INSTALMENTS

Options:
1) MEN

2) TALL
3) STALE

4) MENTAL
Cohrect Answer: TALL
Candidate Answer: TALL

QID : 24 - In a certain code language, "BANGED" s written as “IMQCC" and “TILTS" is written as "XXOKU". How is "STRAY" written in that code lznguage?

v fafdes iz srer #, "BANGED" &1 "2IKQEC" @t ATar & aur "TILTS" & "MXOKU™ foran siar €1 39 #ig srar & "STRAY" +) fva waig T smeme

Options:
1) ZBSUT

2) XZQ5R
3) EFLJS

4) DEUINT
Correct Answer: DEUVT
Candidate Answer: DEUVT

QID : 25 - In a certain code language, "GRAVYS" is written as "DUIVBY™ and "BUTLTS" is written as "WXEVIWO", How is "SPREAD" written in that code
language?

o Afin Wiz AnT A, "GRAVYS™ ¥ "DUIVBY™ T F1ar ¥ 727 "BUTLTS” F "WNEVWO™ T3ar s &) 39 515 5791 7 "SPREAD™ ! fva v g smaam?
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Opticns:
1) URTGCF

2) PMNEXA
3) VSUHDG

4 USWGDH
Correct Answer: USVGDH
Candidate Answer: YSUHDG

QID : 26 - If "P" denotes "multipked by", "Q" denctes "subltrached from”, "S" denctes "added to" and "R" denotes "divided by", then which of the follawing equation
must be true?

=T P e §, QU X wait §, S & vl e f ayr "R & and e 8, o Treafat®a @ F sty arasdis a2
Options:
1755 P2R28=11

2)I6RGBP254=19
INEARBPISE =72

4 ER954P2 =14
Corvect Answer: 7556 P 2R 28 = 11
Candidate Anawer: 7S56P2R 28 =11

QID : 27 - If "6" denotes "added to”, "§" denotes “subtracted from", "f" denotes "divided by" and "a" denoctes "multiplied by", then
5139a78142="?
3 "o" %7 a9 " &, 5" 1 o werE "B'W&Iﬁ"ﬂm"taﬂr'u"ﬂﬂﬁwt dr

SE103u7HL142=7
Options:

1) 114

2198

384

4) 125

Correct Answer: 84
Candidate Angwer: 34

QID:28B-IF17*36=17and 4L * 56 = 16, then 41 * 32 =7

17+ 3I6=17 W41 *56 =163, A 4L *32=7
Options:

16

212

N1

a/s

Correct Answer: 10

Candidate Answer: 10

QID: MW -H1d$8=V1land 18 %d=SL then21 49 =7?

T 14 58 =91 AMIB 4 A =51, A 2§ G =2
Options:

1) 160

2) 155

23151

4} 168

Correct Anawer: 160

Candidate Answer: 160

7
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QID:30-
In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

ARRa uy # R or Reeut & & vy e
(?) & TS W A arelt FEAT AT

3 & 2 4 9 3
2 6 3 8 2 1
8 1 2 6 4 ?

Options:

1)1

2)2

3)3

4)4

Correct Answer: 3
Candidate Answer: 3
QID:31-
In the following guestion, select the number which

can be placed at the sign of question mark (?) from
the given alternatives.

Arfafa uy # ffr or et 3 @ wy e
(?) & TUE W S areh =T B AT

3 4 2 6
2
4 2 2 7

2
(42}
(4]

Options:
1)3

2)4
3)5

4)6
Correct Answer: 5
Candidate Answer: 5

QID:32-
How many triangles are there in the given figure?

& 8 anpfa I former Reger ¥

A AT

™ <
N/
X \
™, .'/ N Iy
o | s o [
AL g 3\

8/57


http://www.sarkariofficer.com

.gradeup.co
WWw.g up ﬁgrada i

01/0842017 Staff Selection Commision

Options:
1) 14

216
318

4% 20
Correct Answer: 16
Candidate Answer: 20

QID : 33 -
Haw many triangles are there in the given figure?

& oy gl F e e

Optiona:
1) 18

2)24
326

4)28
Correct Answer: 26
Candidate Answer: 28

QID : 34 - In each of the {ollowing question below are given same statéments followed by some conchsions. Taking the given staterments 10 be true even if they
seem to be at variance from commenly known facts, read all the conclusions and then decide which of the given conclusion togically follows the given statements.

Satements:
1. Al cups are glasses.
IL. Some cups are pens.

Condusions:

I. Some pens are cups.

II. Sorme pens are glasses.
I Some pens are hot cups.

Ay e ore vl IR & 30 U AT 3E 918 37 oAt o aneile Fe ey R e §, arwif 39 s wnd ava & et g wec §) @ et of sk
iRt o =% T e 1w i & e, T 710 St & oY QR E)

L2 CH
L ¥ %5 7erE £
S E D

foret:

LIz omaT )

IL. e 3 T90E BT

Ii1. T 9 w0

Opticns:

1) Cnly conclusion (I) and {III} follow

e Fersamd (1) e Formd (1ID) Wt €

2 Only conglusion (I and (I} fallow

e fesad (1) avar forsand (101) Ay &

3) Cnly conclusion (I} and {10} follow

e fore (1) T Feremdr {I1) Jer &

4) All conclusions follow

oot ek Tl ¥

Cotrect Answer: Only conclusion (I3 and (IT) follow
e Tered (1) T Fersend (1) Wér &

Candidate Answer: Only vonclusion (T} and (113 follow
e feremdr (1) w Toeamd (11) T €

9457
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QID : 25 - In each of the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they
seem to be at variance from commonly known facts, read all the condusions and then decide which of the given conclusion togically follows the given statements,

Statements:
I. Ne dities are countries.
II. Na countries are villages.

Concdlusions:
L. Some countries are city.
IL. Na villagec are city.

A BT TT 0% A F T T AR 37 a1 37 w7 s Fo freed Ry e 8, greife s wemer s at & e 8w ) mi freed < o
Forr T &% T R omy ity 3 e, R e st 3 3 w gRaaa §i

LY
L v sgr v wf
I PEaraaadi

forswk:
L % 3 wgt §i
I0. 3 i w2 1 )

Ooptons:

1) Only conclusion (I} follows

e fread (1) wfr

) Qnly conclusion {Ir) follows

dhae ferwerd (1) wdv ¥

3) Both conclusion follow

At ek wlr

4) Neither condusion {I) nor conclusion (11} follows
1 ol o (1) S 7 @ sk () T

Correct Answer: Neither conelusion (I) nor conclusion {IT) follows
T o T (1} 3T o o e (1) wr &
Candidate Answer: Only conclusion (II) follows
hae Trreardr (11) TEX ¢

QID:36-
From the given opfions, which answer figure can be
formed by folding the figure given in the question?
ferrforfT et & @ = o 39T Tl w
# & aF 3R B FEH @S S Thdy w2

10157
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Options:
1)
~ a

3)

4)

5

Correct Answer:
2

Candidate Answer:

il |

QID:37-
From the given options, which answer figure can be
formed by folding the figure given in the question?
e e A ¥ s SR wr F &
TS HEI N ASI TS ST TR B2

Options:

’grad-l P

11/57
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o |©

QID: 38 -

Staff Selection Commision

In the given figure, how many papers are also hard?

& ot ety o, fohaa @ wea o ¥

Hard/ded —»

Options:
1) 14

2)23
3)37

4) 32
Correct Answer: 23
Candidate Answer: 14

QID:39-
L

Options:
1) 16

2) 18
3)0

4) 34
Correct Answer: 0
Candidate Answer: 0

QID: 40 -
P

Options:
1) 29

2)76
3)43

4) 51
Correct Answer: 51
Candidate Answer: 51

fgr:dl_. [

12/57
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QID : 41 -
Which answer figure will complete the pattem n the
quesfion figure?

Wi W 3R AP va Apla & uldww & g
Fafr

Vo
N ?

Options:
1)

P

&

(&

z
:

N

QID:42-

Which answer figure will complete the pattemn in the
question figure?

FlF W 3R FFla wA FHla F ufaww w g
wof?

2N

13157
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Opticns:
1)

Candidate Answer:

Q

QID:43-

From the given answer figures, select the one in
which the question figure is hiddenfembedded.

H T =R pladl F § 3@ =R El = gaw
orm & wr spfa BfRa ¥

B

14157
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Opticns:
1)

Correct Angwer:

Candidate Answer:

QID: 44 -

al

Options:
1

i

L7

¥

)

LS

15157
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Candidate Answer:

D
3V

QID:45-

A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & vy argpladl # REm dEgur wee @
HEFT VA TW Wed F ag IF R 9T gy
S femrg game

HZ8]5

Options:

L

&

swer:

g
=] . || B
o ; d

16/57
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QID: 46 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

& & oy wpladl # BEmw 3gER e #t
AEFT BEF IW Wl F a2 g R W A
e fear$ gam?

Dl =

Options:
1)

=)

w

B

B

i
|

SWer:

e

17/57
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QID: 47 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afy T T @ AB @1 W @1 S, @ &Y
39 WFHOAT H § FiF O Ea Uy JAEa A

wer ufafasa gefre

ARk B

Options:

Candidate Answer:

18/57
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QID : 4% -
If a mirror is placed on the line AB, then which of the

answer figures is the right image of the given
figure?

afy T FGOT R AB T W @ AW, o1 & a8
IR Higpldt # 3 wla @ Il wy e &

T afafesT gane
A~rewB
Options:
1
F3
3
4
Correct Answer
l::amlid‘ate Answer:

ﬁgradq i

19157
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QID: 49 -

A word is represented by only one set of numbers as given in any one of
the altematives. The sets of numbers given in he altemalives are
represented by two dasses of alphabets as shown in the given two
matrices. The columns and rows of Matrix- are numbered from 0 to 4 and
that of Matrix-l are numbered from 5to 8 A letter from these matrices can
be represented first by its row and next by its column, for example, “T" can
be represented by 03, 31 etc, and ‘D’ can be represented by 75, 87, etc
Similarly, you have to identify the set for the word “GHOST"”

o e Fow o ger-aay awr gofar wen ¥, Sk & Raedt & ¥
el o A R oo B Rt & RBe oow dwarwep sewt & @ gl
g1 gute aw §, ok @& Re o ) sl & B s ¥ woew sk
aftn fr FEa 0 F 4 & ok awegell $15 ¥ 9) 59 HET ¥ v dER @
uger & dfts 3R ag & woEw R G aeR ST wwar Bl Saer
& fow T @ 03, 31, WY g1 gefar o @@ & @w D @ 75, 87.
g T Zutr ST whar ¥ o T @ W um # Ry owg
“GHOST" & AU wofE = ur==a B

Matrix-| Matrix-|l
£ () el
0[1[2[3[4a 5[6[7(8]0
O|E[O[N[T|G S5M|D|H|[S|A
1|T|N|G|O|E 6|A|S|M|D|H
2|0IG|T[E[N 7TIDJAIS|H[M
3|N|T|E[G|O B|H|M|D[A]|S
4|G|E|O|N|T| SIS|H[A[M|D

Options:
1) 33, 57, 20, 66, 03

2) 40, 78, 42, 97, 10
3) 12, 96, 13, 77, 30

4) 04, 78, 01, 58, 43
Correct Answer: 33, 57, 20, 66, 03
Candidate Answer: 33, 57, 20, 66, 03

20/57
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QID : 50 -

A word is represented by only one set of numbers as given in any one of
the altemnatives The sets of numbers given n the altematives are
represented by two dasses of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5to 9. A letter from these matnces can
be represented first by its row and next by iis column, for example, 'C” can
be represented by 00, 33, etc. and ‘O’ can be represented by 56, 88, efc
Similarty, you have to identify the set for the word “BAKES™

ua U Fuw U Ge-gdE GR gutan s € A B Reed & &
el v @ B mn ¥ Raedt & Re e gem-asp sewl & & ol
gRY guiw are §, St @ RBu ow Q) aregEl & ¥ aweged & wor sk
dftn &t dwar 0 F 4 ¥ sfiv ncgedl $r 5 F 91 57 mgEl § T AR A
uER IR Ufh 3R @ # EEen s o aubar o awar &1 sgeor
& AT "C* @1 00, 33, W GRT &M ST Waer ® W O @Y 56, 88,
W g gulan o @ear ¥ R AW @ wos uw # RE o
“BAKES" ¥ AU wag & UgaaT &I

Matrix-| Matrix-Il
&) gl

Bl w N =o

| x| T i O O
Al W Olm| B -
O B | &)@ N
mc‘sm':nxu
o m| x| o] f »
©| oo| ~| o |

< —| O | m| o
| | m| —| O o
= m POl c|~
m| O =| | >
Ol ricim—| e

Options:
1) 11, 65, 03, 55, 20

2) 40, 77, 24, 76, 32
3) 34, 96, 41, 87, 10

4) 02, 58, 31, 88, 04
Correct Answer: 34, 96, 41, 87, 10
Candidate Answer: 34, 96, 41, 87, 10

QID : 51 - Demand curve will shift forward, when :
AT @5 A A GUE 9590, S
Options:

1) Price of complementary good falls

IR aEgHt & & & a gt

2) Price of substitute goods decreases

o awgHt & & 7 w4 gl

3) Income of the consumer falls

ammges 1 AT 3 T g

4) Price of complement good increases

HYE aEGHT & ar A agial @

Correct Answer: Price of complementary good falls
HegTeh aFH! & a3 Fl gl

Candidate A : Price of compk good increases
I Tt & e A aead g

QID : 52 - What is the full form of NSDL?

UHUEET 1 A w9 g7
Options:

1) National Society Development Limited
AU WA faawee WiEeE

2) National Securities Depository Limited
AAw afEds Rufioed it

3) National Social Development Limited
A H Weenwe A

4) National Safety Development Limited
Aol YT e fEes
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Correct Answer: National Securities Depository Limited
A wiEda Rolfaed s

Candidate Answer: National Socizl Development Umited
AT W HaRee e

QID : 53 - If exports egual imparts then, which of the fallowing relations will be true?

wfe; fovelied, s & aarat @, o Fstiata o & st @y aeeu g g
Options:

1) GDP = GNP

A, = FroAad

2) GDP > GNP

A o> Shvadn

2) GDP < GNP

A < Froadn

4) None of these

A TE

Corract Angwaer: GDP = GNP
I = Ao

Candidate Answer: GDP = GNP
Far = oA

QID : 54 - What Is the minimum base rate fixed by REI?

R &Y. 3. T fdiE e dm e T e

Options:
1)8.30 %
2)8.25%
3930 %
4) 10,00 %

Correct Angwaer: 9,30 %
Candidate Answer: 10.00 %

QID : 55 - Who among the following oave the 'Gandhiar Plan’ in 19447

Tarnfeiae A @ B 1944 3 vy stemr & v
Options:

1) D. D Dhar

R

2) 5. N. Aggarwal

TH. BH. ATa

3) M. N. Roy

. wA. i

4) ). P. Narayan

3t Y. AR

Correct Answer: 5. N. Aggarwal
Ty, UL Haard

Candidate Answer: M. N. Roy
TR, G, I

QID : 56 - Coup is .

TEATE &

Options:

1) sudden overthrow of a government illegally

v ey wre i Fs & g her

2) a systern of rules that taken effect when a military autherity takes contral of nomnal administration and justice
AT GERT SRITHT T FEAeReT 37 30wt Fei=or F a9 & 1 e F8 Fe

3] territory under the immediate political contrel of another state

Forelt 3 AT S 3 AT T e aren Ay

4) All options are correct,

mir R TEE

Correct Answer: sudden averthrow of a government illegalky
i R wrE A wA o F 3w hear

Candidate Answer: All cplions arg correct,
wfr e adr €

QID: 57 - goverment is better than other forms of government because it allows us ta corredt its own mistake,
T gt F A & FilE swa gt Faelt arenh St et @ At o T
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options:

1) Democratic

AFATF

2) Manarchic

R EEEI

3) Authgritarian

T

43 Autocratic

foriga

Correct Anawer: Democratic
AT

Candidate Answer: Authoritarian
N

QID : 58 - Which among the following descaribes Public Interest group?

feriRfte W O FiF i FeaeEr) Rewg © w8 wl g i
Opticns:

1) Organizations that promote imterest of particular section of group
Tt frdrg =t o g % Rl o aanan 2 aven dors

2) Qrganisation that promote common interest

FoT BATY & Tl &Y g2 & ard Harea

3} A Strugqle laurched for resclution of a social problem

Fored wronfors W & YT & FAT STRm T v Sl

4) Organisation that mobilizes pecple with 2 view to win political power
&Y T S TR Hedl T8 A1 TR I \9i FY S ar §
Cotrect Answer: Organisation that prornote common intenest

ST HIAY ¥ Tyl 1 agmar &= aren Harae

Candidata Answet: Organisation that promote common interest
FoT ArAteT & Tdl W warar A A Hasa

QID : 39 - Who was the chairman of the drafting commitee of Indian Constitution?

feTeite & O gt ATl ol & g wia O
options:

1) Lord Mountbatten

e ATIEdeA

Z) Dr. Rajendra Prasad

=, T T

3) Dr. B. R. Ambedkar

21t 3T IR

4) Pandit Jawaharial Nehru

HfEA FAEIATH AFE

Correct Answer: Dr, B, R, Ambedkar
2l . 3. ITREET

candidate Answer: Dr. 0. R. Ambedkar
2, Y. W, R

QID : 60 - Which of the following fundamental right is given in Article 217

FrrafRfte A & sl 21 A Fla o it Rear a2
Opticns:

1) Right to property
Hufed a wftemr

2) Right to eguality

TARTT & AT

3) Right to speech

AT T HRER

4) Right to life

N 5= = wity

Correct Answer: Right to life
S tea a1 afbrmre
Candidate Answer: Right Lo life
ST Tt 37 it

QID : &1 - Which among the fallowing artide states that there should be no discrimination on grounds of caste, religuon, race, sex, place of birth?

FerfRftrs A & e anpedve 3 R & 7 Har 3 e, S, 9%, ST ar fRr 3 e ok e F e wft o ar g
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Opticns:

1) Article 15

W 15

2) Article 21

ey 21

3] Anticle 25

o 25

4 Article 30

30T 30

Comrect Answer: Article 15
¥ATBE 15

Candidate Answer: Articke 15
TR 15

QID : 62 - Who among the following is constitutionally empowered to alter Scheduled Area?

ferafoitm & w7 I Ra &5 & o w3 F e s shwarwa e
Opticns:

1) Supreme Court of India

ITAN FOEE

) High Court of Sate

T ARTAT

3) Prime Minister of India

IO & W

4] Fresident of India

MITA & T

Correct Answet: President of India
HITH & g

Candidata Answer: Presidant of India
s & g

QID : 63 - How is the President of India elected?

T & TR & RRR ORI ST
options:

1) Directly by public voting

FAN

Z) By single transferrable wate

T FETRei 2T ZARr

3) By secondary voting system

Ffreirr Frfree g Zam

4) All options are correct.

afh R @i € 1

Correct Answer: By single transferrable vole
T gEizRoT are 23Ry

candidate Answer: By single transferrable vote
U el 3 Zgrr

QID : 84 - Who among the following has written the famous poem, 'Sarfareshi ki Tamanna'?

wferg widar arEd i H gawm fara e & ¥ Rrew Tordv &7
Options:

1) Bismil Azimabadi

FafeRs sty

2) Chandra Shekhar Azad

e IET AT

3) Ashfaqulla Khan

IR T T

4} Ram Prasad Bisrnil

T e fafens

Comrect Answer: Bismil Azimabadi
R arsfemandy

Candidate Answer: Ashfaqulla Khan
IRTTTH Soel T

QID : 65 - Which Govemnor General of India started the Postal Service in [nckia?

HIT & R TR ool SR S B qpes 47

24157
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Options:

1) Lord Canning

A T

2) Lord Cornweallis

wrk wrdafere

3) Lord Dalhgusie

i Teghslt

4% Lord Warren Hastings

% e iRy

Correct Anawer: Lord Warren Hastings
g A TR

Candidate Answer: Lord Dalhousie
AtE saetar

QID : 65 - Who abolished Jizyah Tax?

i FT F e aAr B
Optigns:

13} Jahangir

e

2) Humayun

3] Aibar

Ay

4) Aurangzeb

o

Correct Answer: skbar
HEAT

Candidata Answet: Akbar
Fwav

QID : 67 - Arrange the following historical events in the chronolegical order of their occurrence.

1. Non-Cooperation Mavement
IL. Civil Disgbedience Movenant
Il Chauri - Chaura

frriaiom Mapfies aeersdl F1 374 SosAer saies 5t

L ¥HET AgE=

i, TR M HvEe

LI ot gy

Options:

1L IL I

21, 1L, 1T

I 1T

LT

Cotrect Answer: I, 111, 1
Candidate Angwer: I, ITT, [T

QID : 68 - Which of the following pair is INCORRECT?

e s s A a8 FE E?
Options:

A3 Abul Fazal — Chief Advisor

HIF AT - FET HABFT

2) Faizi - Post

el — iy

3] Birbal — Firance Minister

#rraw — Rreeerr

4q) All are oorrect

i

Correct Answer: Blrbal - Finance Minister
Fraw - ReasEr

Candidata Ansgwear: Birbal — Fingnce Minister
AEw - Beaddr

QID : 69 - In which of the following country the Kalahari desert is located?

frrrinfls A 2 B 2w & samd) Foeys fRae 27
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Options:

1) India

L

2) Pakistan

aifavedta

3) Botswana

Cioocin |

4} Kenya

e

Correct Anawer: Botswana
aewanT

Candidate Answer: Botswana
Elzicio

QID : 70 - River Narmada originates from which place?

e 7Y ForR TR & I g i
Optigns:

1) Amarkantak

FAGECE

2) Himalayans

TR

3} Brahamagiri

4) Baralacha pass

AR

Correct Answer: Amarkantak
HATHCE

Candidata Answer: Amarkantak
AR

QID : 71 - Where is Great Banier Reef located?

wmir s

options:

1) India

Eir g

2) Pakistan

bz

3) Australia

e

4) South Africa

= Hftem

Correct Answer: Australia
A

Candidate Answer: Australia
Elliarn)

QID : 72 - Siachen glacier is located near to which of the following valley?

Fermfera fewas frrafafda & & fsm ol & e Rug &2
Options:

1) Nubra Valley

T Aty

2) Doon Valley

A T

3) Silent Valley

L ]

4) Neelam Valley

Hraw md

Correct Answer: Nubra Valley

o anéy

Candidate Answer: [ NOT ANSWERED ]

QID : 73 - What is the nama of grasslands of Southern Africa?

ZfErott e & wra & HarAt v ArA war §7

28157
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Options:
1) Savannah
a3
2) Pampas
LE Tl
3) velds
ozm
4) Praiies
W
Correct Anawer: Velds
L
Candidate Answer: Savannah
E:rc )

QID : 74 - Where is urine stored in human body?

= ¥ ¢T3 AT FE wH AT g ir
Optigns:
1} Kidneys

2) Urinary bladder
AT
3) Liver

4) Nephron

Cotrect Answer: Urinary biadder
I

Candidata Answet: Urinary bladder
o

QID : 7% - Potato i5 an example of .

e T UF TRV E|

options:

1) Tuber

Ee

Z) Bulb

Lt

3) Corms

Helhee,

&) Rhizome

e

Correct Answer: Tuber
*Z

Candidate Answer: Coms
el

QID : 76 - Which of the following is the highest source of protein?

Ferrrforfare 3 ¥ @l A =7 sl g v B

Opticns:
1) Sun flawer

Fre

2) Sovabean
HTERT

3) Grams
oAl

4) Wheat

#

Correct Answer: Soyabean
Hredrer

Candidate Answer: Soyabean
T

QID : 77 - Endoplesmi Retiulum are rolgh because of prasent on thelr surface.

IR e B Fw o W SefEaty F w37 gagh e §
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Options:

1) Golgi bodies

wifest ¥y

2) Plastids

waw

3) Lysosomes

wHARE

4) Ribosomes

oFaranT

Correct Answer: Ribosomes
R

Candidate Answer: Ribosomes
TR

QID : 78 - Which of the following is not an example of an amphibian?

fraiarts & & FiF v s o Al i

Optigns:
1) Frog
#Haw

2) Seq hotse

vada

3} Alligator

LiESIC

4) Tead

g

Correct Answer: 523 horse
e

Candidata Answer: Sca horse
s

QID : 79 - During hibemation state, frog respires by which of the following?

ofmferer ¥ 2, Fz FoemateEm # ¥ fendy o s 2
options:

1) Qnly heart

Faw @Y

Z) Cnly lungs

¥ st

3) Cnly skin

¥aw o

4) Both lungs and skin

West T T 2 A

Correct Answer: Only skin
A

Candidate Answer: Only lungs
e st

QID : 80 - Acticn and reaction .

Foman e afafmar ____|

Options:

1) always act on same body

Béa o & wiv ox A B

2) are equal in magnitude

AT A aaT o §

3) are ir same direction
wHREmADTE

4} always act independantty

B FEHT T F AT B §

Correct Answer: are equal in magnitude
A A R A

Candidate Answer: are equal in magnitude
AT A P ¥

QI : 81 - What is the distance between a crest and a consedutive trough in @ transverse wave?

TF FTEY 0T A T TR T T 3P I & dra gt Bt @ #2
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Options:

1) Wavelength

Geukn

2) Amplitude

Mrara

3) Half of the wavelength

T U T amar

43 Twice of wavelength

ol & A

Correct Answer: Half of the wavekngth
i & & ama

Candidate Answer: Wavelength
waat

QID : 82 - Which is the mpst suitable unit for expressing nuclear radius?

A e 1 T F F R st s AR a@ b
Opticns:

1} Micren

AR

2) Nangmeter

AT

3) Fermi

Lz

4} Angstrom

A

Correct Answer: Fermi

wH

Candidate Answer: Nanometer
#arry

QID : 83 - Maxwell is the unkt of which one of the fallowing?

FrrTafas A O Bre T #1 5T Aeaaa 7
options:

1) Magnetic flux

TR Gl

2) Permeability

HTAEAT

3) Magnetic susoeptibility

TR AR

&) Intensity of magnetization

Lo snkion)

Correct Answer: Magnetic flux
T FEEq

Candidate Answer: Magnetic flux

R T
QID: 84- Bar is located 2t top of Wordpad/Notepad.

oy wéts/ae s #F s A A E E
Opticns:

1) Format

wiFT

2) Menu

3) Tool

o=
4) Title

aved

Correct Answer: Tite
Eed

Candidate Answer: Title
meed

QID : 85 - Which among the following is not a Basic kgical operator in Boolean Algebra laws?

i A & F7 v 3o ST orm 51 Jegg aFwTT e a8 &7
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options:
1) AND
e

2) OR
Affg
3)NOT
Eird

4 NAND
#
Correct Answer: NAND
o

Candidate Answer: NAND
A

QID : 85 - Which of the following is not a characteristic of a solid?

ferrffrm o & e o v S Tand & At A ¥
Opticns:

1) High compressibility

e

2 Hlgh densiry

T Uecdd

3 Regular shape

forafde smeR

4) High rigidity

3T FERA

Correct Answer: High compressibility
eq =g

Candidata Answet: High compressibility
Fea gftzaar

QID : 87 - What are the components of nucleus of an atom?

TR & S & O 7
options:

1) Qnly Protons

Ercd: cic

2) Protons and Neutrons

Lias Gk (o

3) Neutrons and Eledrons

TGN AT FAEY

4) Only Neutrons

aw Fia

Correct Answer: Protons and Neutrons
Lirao s o

candidate Answer: Proons and Neytrons

R T gt
QID : 88 - In Aqua Regia which beo acids are mixed in ratio of 1 : 37

arFarrer (awra fifSram & Rer o vt Y 11 3 & et A fraray avar 37
Opticns:

1

HCL 7747 HNO;

2) Silver

=ar

3) HNO; and H,€0;
HNQ3 4T H,C05

4) HCL and 14,003
HCL 71T HyCO3
Correct Answer:
HCL 147 HNO3
Candidate Answer:
HCL T HNOy

QID : B9 - What is the mass of one mole of a substance in grems is called?

el SRR & v AV e A T S

30057
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Options:

1) Nuclear Mass

AT gAA

2) Atomic Mass

THI] FETHN

3) Molar Mass

Hiel geOArRT

4) Molecular Mass

Bl e

Correct Answer: Molecular Mass
TS AT

Candidate Answer: Molar Mass
A 2= TA

QID : 90 - Which among the following is the habitat of 'Dog fish'?

feraiafas &4 I e W osmEm T
Opticns:

1) River

ECH

2) Sea

Lo

) Lake

e

4) Marsh

aed

Correct Answer: Saa

R

Candidata Answer: Marsh
g

QID : 91 - In which of the following ecosystem, benthic zone s found?

AT @ 7 B TRITTE O3 7 Afr 43 9 ST 82
options:

1) Fresh water enosystem

FHra urtr mRRuTas

2Z) Salt water ecasystem

T T aftfRufs

3) Tundra Ecosystem

g;r qitfeafes

4) Forest Ecosystern

aw ol

Correct Answer: Salt water ecosystem
TRER TR i

Candidate Answer: Salt water ecosystem
FAEM TR R PaRE

QID : 92 - What was the main aim of Basel Corwventian?

TS FAA T T I w2
Opticns:

1) Protection of Dzone layer

it T o HE

2) Bip-diversity Conservaticn

3T Tl 3 Fotor

3) Global Warming

Teere EffE

4] Climate Change

FaETy T

Correct Answer: Bic-diversity Conservation
Jta Fafaeen 1 &eator

Candidate Answer: Global Warming
v A

QID : 93 - Under 'Geo Mahatma Gandhi NREGA initiative, MNREGA has reached a milestone by g0 tagging how many assets aeated under it?

*Siralh FTeAT A T GE & AT FAOT A HF B R w8 S b o g o T 8

357
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Options:

1) 30 lakh

o

2) 1 crore

105

3) 2.8 core

23 #=2

4) 3 crore

3%

Correct Anawer: 1 crore
15303

Candidate Answer: [ NOT ANSWERED ]

QID : 94 - Who gave the ‘Law of Gravigation'?

TErAT 1 e e R

Options:

1) Michael Faraday

FgTe e

2) Guglielmo Marconi

TAEHT AT

3) James Watt

JFg e

4} Isaac Newton

L

Carrect Answer: Isaac Newton
G

Candidate Answer: [5aac Newton
T Y

QID : 95 -
Match the following.

TR & e e

Sport/ 89 Playing field / €<= = TI=T
1. Baseball a. Court
RG] W
2. Cricket b. Diamond
femene EHTHE
3. Tennis c. Pitch
CAGE:] R
Options:

11-3,2-¢3-b
211-b,2-¢ 3-a
31-b2-33-c

4)1-¢,2-a,3-b
Comect Answer: 1 -b,2-c,3-3
Candidate Answer: 1 -b,Z-¢ 3 -a

QID : 95 - Who among the following has been given honorary status among the seven wonders of the modem world?

Termrieire # & Rrma Jmyfrs fna & Wa et & 9 A Rt d o 2
Options:

1} Taj Mahal

= HEA

2) Great Pyramid of Giza

afran & e ferafes

3] Petra

o

4} Colosseum

wE e

3257


http://www.sarkariofficer.com

.gradeup.co
WWw.g up ﬁgrada i

01/0842017 Staff Selection Commision

Correct Answer: Great Pyramid of Giza
frar & fare RBfas

Candidate Answer: [ NOT ANSWERED ]

QID : 97 - Who among the follawing is a reciient of 2016 Nationa! Bravery Awards?

fArATafn 1 & #19 2016 ¥ T=fra e TEER e §7
Options:

1) shivansh Singh

Foraiy

2} Avinash singh

iy iy

3) Arjun Singh

I g

4] Kashish Chanani

HRRT AT

Correct Answer: Arjun Singh
¥ iR

Candidate Answer: Arjun Singh

e Ui
QID : 98 - Who authored the back 'Madi's Midas Touch in Foreigh Policy'?

*FEra FAsra € 3 WA HiTaHT TFA & SaE Fi 32
Options:

1) Surendra Kumar

TR T

2) Sunita Narayan

FART ARTIOT

3) P.5. Negi

oF. o, A9

4) Anwj Dhar

3 R

Corract Answaer: Surendra Kumar
T TR

Candidate Answer: Surendra Kumnar
TR

QID : 99 - which tountry has re-established diplomatic ties with Cuba after 37 years?

Torm a1 31 37 ot AR A F T g Aot Tt wnfon R §7

Optons:

1) Morocco

AFR

2) Ghana

arAr

3) 2imbabwe

formar=

43 Sudan

=

Correct ANSwer: Moractn
HTFR

Candidate Answer: Morocco
AFR

QID : 100 - 'TAPT is a natural gas pipeline from Turkmenistan to India. It passes through .

AT W 3 o A T SRR A i ar ¥ e By et £
Options:

1) Afghanistan

I

2) Pakistan

o

3} Both Afghanistar and Pakistan

HEIPRET T SifReEa 2t

4) Nane of these

Tt B o it

Correct Answer: Bath Afgharistan and Pakistan
HMTAFAR 7T e

Candidate Angwer: Afghanistan

IR

3357
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QID : 101 - 411+ 412 + 413 & 4145 divisible by .

4y 412 4 419 4 41 & fonnfaw o
Options:

17

bIRT]

)17

9

Correct Answer: 17

Candidate Answer: 17

QID : 102 -
(1.1’ +(0.7)°
(1.1 -1.1x 0.7 +(0.7)°

What is the value of

(1.1 +(0.7)

A &1 27
(1.9 —1.120.7 +(0.7)

Qptions:
1)0.4

2)0.7
311

4) 1.8
Correct Answer: 1.8
Candidate Answer: 1.8

QID : 103 - For what value of N, 270N will be a perfect square, where 270N is a 4 digit nurmber??

N % R5% A % T 270N 0 07 391 @9, STl 270N T 4 3 i 5Ean i
Opticns:

11

2)6

34

49H9

Correct Answer: 4

Candidate Answer: 4

QID : 104 - What least value should be added to 2505, sa that it becomes a perfect square?

2505 # a5 #ta o o § O wear S el arfde @if ag v gt @t o ane?

Options:

15

2)20

370

4) 96

Correct Answer: 96
Candidate Answer: 96

QID : 105-
Whal is the value of
1

9991 +900 11009 1 10007 L9991 %
2 B 12 20 30

999 ;999 ta99 1 go9 ) 999 ! Fr A=
2% 12 2030

T e

34457
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Options:
1)
1
999 —
3]

2)
999>
5

3
4995
5

4)

4995 E
6

Correct Anywer:

4995E

§

Candidate Answer:

4985 s
6

QID : 106 - A, B and € together can complete a work in 20 days. A and B together can complete the same wark in 30 days. Then C alone can complete the same
work in how many days?
A, B 7T C THers Tl snrd Y 20 fot & qo v w1 A T B 3y b Y 30 R A QU aR w §1C arken 30 w1 A e Rt A qm v 82

Optons:

110

2)30

3as

4360

Correct Answer: 60
Candidate Answer: 60

QIO : 107 - Vijay is 10% more efficient than Vikas. If Vikas can complete a piece of work in 33 days, then Vijay can complete the same work in how many days?

T, Frrar @ 10% Hfre e | wf frwra o v o7 33 Rt 3t ot T 3, o v 39l vt a8 et Rt o o e e 32

Options:
125

227
3)20

4) 36
Correct Answer: 30
Candidate Answer: 30

QID : 108 - After giving 20% discount on an article there is a profit of 20%. What will be the profit percentage when no discount is given?

T FEd W 20% B gz &0 & arg o 20% 1 A g B g2 F &R 9T e aieRia w1 any gen?

Options:

1) 90

2) 44

N

4) 50

Correct Answer: 50
Candidate Answer: 50

QID : 109 - The marked price of a cycle is Rs 5600, If two successive discounts of L0% ard 15% are given, then what will be the selling price {in Rs) of the cycle?

= Ji3ied 1 At A5 5600 5, 1 afE 10% T4 15% 47 &Y FTH gz & I, o wtea 7 e 55 (5. 7) = ome
Options:
1) 4284
2) 4200
3) 4214

4) 4314

39457
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Correct Answer: 4284
Candidate Answear: 4334

QID:110-1F2A=3B=5( thenwhatis A: 8 C?

T2 =38 =5CE A B:CFNY
Options:

1)2:3:5

215:3:2

36:10: 15

4315:10:6
Correct Answer: 15: 10 : 6
Candidate Answer: 15:10: 6

QID : 111 - In what ratio wheat at Rs 32/kg should be mixed with wheat at Rs 24/kg so that on selling the mixture at Rs 39/kg there is a profit of 30%7?

32 %, Sfer Fam, & A A 24 3, 9T 97, & A1 & any e Fpaner 3F T i, T Trer i 39 5, 9T 19,71, 37 992 9 30% F AW AT

Options:
131

2)2:3
3}1:4

$2:5
Correct Answer: 3: 1
Candidate Answer: 3: 1

QID ; 112 - The average runs seered by a batsman in 7 matches is 53 and in other 3 matches the average is 33, What is the average runs scored by the batsman in
16 matches?

T FoRaA A 7 #ot 7 53 AT 6 diwa & mor v 9 A A 33 T & vitee & wae) 16 Aot & weeane & g e Ao st = wn e

Options:

14175

2) 4425

347

4)49.175

Correct Answer: 41.75

Candidate Answer: 41.75

QID : 113 - The average marks cbtained by 150 students in an examination is 40. If the average marks of passed students is 60 and that of the failed students is
20, then what is the number of students who passed the examination?

T R 3 150 3T F SE rod HEE HF 40 §) 3 Iehoh ol F ol #5 60 § aur stpeed o1 ¥ dtaa 6% 20 8, oy wher 3 el g ant frasm s gy
Options:

125

2)50

»7

4) 100
Correct Answaer: 75
Candidate Answer: 75

QID ; 114 - A trader said an artide at a gain of 20%. Had he purchased it for 40°% more and sold for Rs 24 less, then he would have incurred a loss of 20%. What
is the cast price (in Rs) of the artide?

e S G2 A T 20% & S o Anet ¥ 4f o T A AT 40% eR an o arlieat & wen 24 6 o A e, a3 20% & el aeh 8 o o e e
(% %) fraar &2

Optiona:

1) 150

2)300

3)450

4) 600

Correct Angwer: 300

Candidate Answer: 300

QID : 115 - The cost price of a chair is 25% less than the cost price of a table. IF a man <ells 5 chairs at the cost price of 7 tables, then what is his profit
percertage?

e Rl o T AT U A & e & 25% & ) o v cafda 5 gl 7 A9 o e o e &, o sae an sl wr @
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Options:
1)3333

24s
3) 86.66

4} 56
Correct Answier: 86,66
Candidate Answer: 86.66

QID : 116 - If the radius of 3 circle is decreased by 10%, then what will be the percentage decrease in the area of Circle?

w2 vk rar T 3 10% it £ T §, o gea & v F Reaat afore & w0 g
Options:

1) 15

2)20

k ypral

)23
Correct Answer: 19
Candidate Answer: 19

QID : 117 - If A i5 50% more than B. B is how much percent bess than A?

afi A, B & 50% 3firs &, & B, A 4 e sfaera wa 2
Options:

1) 50

2 100

3) 66.66

4)3333

Comrect Answer: 33.33

Candidate Answer: 33.33

QID : 118 - A car fravels 20% slower than 3 train, Both starts from point A at the same time and reach point B 240 km away at the same time. On the way the frain
takes 48 minutes for stopping at the statians, What is the speed {in kmyhr) of the car?

TR H 7 WS & 20% < Tt §) QR g A W O @ W T SR R § 9 240 TR.AT. gT TR Rig B T U 6 Ry e §1 AT # W Rt
T % e 46 firee 3 &) Sy wf (Feah sy da M w2

Options:

1) 80

2) 100

3) 120

4) €0
Correct Anawer: 50
Candidate Answer: 20

QID : 119 - A scooter runs at a speed of 43 kmyhr after repairing and runs at 42 km¢hr before repairing. It covers a certain distance in 7 hours after repairing. How
much time will it take to cover twice of the distance before repairing?

T Tt ATFAT TR 915 49 TR, g e S it § a9t § o FORT ST 7 g 42 B s der &1 aft @ a9 | #wena &1 A 97 o it
o0 W 7 9 7 AT G §1 FRTE e T aw it ot e wee o a ey
Options:

1) 8 hours 10 mins

8 der 10 e

2) 12 hours 20 mins

12 e 20 AR

3 16 hours 20 mins

16 der 20 e

4) 18 hours 30 mins

18 wer 30 Wee

Correct Answer: 16 hours 20 mins

16 e 26 e

Candidate Answer: 8 hours 10 mins.

8 et 10 P

QID : 120 - What is the difference {in Rs) between compound interest and simple interest for 3 years on a principal of Rs 1000 at the rate of 209% per annum?

1000 %. ¥ HEu=A oy 20 e $ @i & 3 ash 3 et aw Tl st aur FraRer 2 & A Reaar i (5. ) §2

377
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Options:
1) 64
2 120
3128

43 136
Correct Answer: 128
Candidate Answer: 128

QID : 121 - What will be the amourt. on Rs 25000 at the rate of 20% per annum compounded yearly for 4 years?

47t 3 20 wiaye wfaad 7@ 25000 7.97 A" Twgfy & Proer ardt o & gl
Options:

1) 51840

2) 50350

3) 53550

4) 48750

Corract Angwaer: 51340

Candidate Answer: 51840

QID:122-

The table given below shows the production {in *C0D
tonnes) of five companies from 2012 1o 2016.

= &Y o3 arferes 3F ot 2012 | a¥ 2016 o i
Fuferi & Fouea (D00 ) gofrar T ¥

Years 3

Company
St 2012 | 2013 | 2014 | 2015 | 2016

302 | 388 | 412 503 | 470
376 | 402 | da4 528 501
250 | 288 302 298 276
350 | 380 372 Je8 362
403 | 450 B04 697 602

~| | D &Y

What is the total preduction {in "900 tonnes) of company R from year 2012 to 20167

=T R T ad 2012?20[5813?—4’3?%('000 = F) e
Options:

1) 1276

211444

31394

47 1502

Correct Answer: 1394

Candidate Answer: 1394

38457
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QID:123-

The table given below shows the production (in ‘000
tonnes) of five companies from 2012 to 2016.

fr & m Tt # a¥ 2012 | ¥ 2016 @ Oig
wufaat & seured (‘000 e &)@ ZoiET IET B

Year / a§

Company
S 2012 | 2013 | 2014 | 2015 | 2016

302 | 386 412 503 | 470
376 | 402 444 529 501
250 | 268 302 298 276
350 | 360 372 398 | 362
403 | 450 504 597 602

~| 0| o O v

What is the average (in '000 tonnes) of total production all companies in year 2013?

ad 2013 # w Fufaat & Fw Senen F T (000 T F) FE?

Options:
1) 371.1
2)373.2
3)378.4
4) 362.3

Correct Answer: 373.2
Candidate Answer: 373.2

QID:124-

The table given below shows the production (in ‘000
tonnes) of five companies from 2012 to 2016.

M & o afores 3 a§ 2012 | a9 2016 & oiT
Fuferat & Seaea (000 TF ) & T =T E

Year/a§

Company
S0l 2012 | 2013 | 2014 | 2015 | 2016

302 | 386 | 412 503 | 470
376 | 402 | 444 529 | 501
250 | 268 302 208 | 276
350 | 360 372 398 | 362
403 | 450 504 597 | 602

—H| | O v

Production of company R in year 2014 is how much percent more than the production of company R in year 20132

a¥ 2014 3 F9AT R 1 Ie9rea a¥ 2013 & FUAT R & Ieqiea | fraw afaerd #f0 §2
Options:
1) 12.68
2) 11.56
3) 14.42

4) 15.31
Correct Answer: 12.68
Candidate Answer: [ NOT ANSWERED ]

fgr:dl-. [
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QID :125-
The table given below shows the praduction {in ‘000
fonnes) of five companies from 2012 1o 2016.

& & o oo & a¥ 2012 ® ad 2016 @@ aiw
tafadl &% Seares (000 @ )@ Zofar mn ¥

Year a&

Company
et 2012 | 2013 | 2014 | 2015 | 2016

302 | 388 | 412 503 | 470
376 | 402 | 4da4 528 501
250 | 288 302 298 276
350 | 360 372 3o8 362
403 | 450 604 597 602

~| DY

Production of all companies in year 2014 is haw much percent less than the preduction af all companies in year 20157

T 2014 # T FOEEE FT ITeree T 2015 F Tt Fferdt & sEeA o e Tia FA 82

Options:
1) 8.25

2113
3) 14.4

4125
Corract Angwer: 12.5
Candidate Answer: 12.5

QID : 126 - What is the length (in metres) of the longest rod that can be placed in a room which is 2 metres long, 2 metres broad and 6 metres high?

o 2 Are wFas, 2 #e e R 5 Wit S oy #At A Y o ardt I welt o & weng (e Ay Fa e

Optigns:

18

2) V11

3) 311

410

Correct Answer: 2v11
Candidate Answer: 2vi1

QID : 127 - If the height of a given cone becarne thrice and the radius of the base remains the same. What is the ratio of the volume of the given cone and the
volume of the second cone?

o faw a1 ig $1 Fav v a1 51 S e 3w Jnent A frsem A 18| R 0 OF 1 AT au gEy oF & Aaad F1 HTn T
Options:

1)1:3

21:9

3)1:v3

4y1:27
Correct Answer: 1: 3
Candidate Answer: 1: 3

QID : 128 - If the angles of a triangke are (2x - 8)°, (2x + 181° and 6x°, What 15 the value of 3x (in degrees)?

e v B & T (2 - 8)°, (2x + 181 7 6 §1 3w F A (T ) = g
Options:

1)17

)34

ns1

4) 60

Corvect Answer: 51

Candidate Anawer: 51

40/57
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QID : 129 - Two identical circles each of radius 2 cm intersect each other such that the circumference of each one passes through the centre of the other. What is
the area (in cm?) of the intersecting region?

QA FHET et $ P 2 A @ 5 o gEY B 50 v wiedE T § R 3 oR v gut & e @ fet et §1 wedRe a a stawa (3.2 #) w

#rm
Options:
1)
8m
— 2.3
3
2)
8m
——+/3
5 V3
3)
41
— —J3
3 V3
4)
41
—_-28
3
Correct Answer:
8
SR
3
Candidate Answer:
8
— =3
3

QID : 130 - What is the volume (in cm?) of a right pyramid of height 12 cm and having a square base whose diagonal is 6v2 cm?

U 12 WA T arey we AufaE w5 et s Sree 3R ve a9 e et 6v2 9 2

Options:

1) 864

2) 432

3) 144

4) 288

Correct Answer: 144
Candidate Answer: 144

QID:131-

If x2—Tx + 1 =0, then what is the value ofx+%?

afEx?-7x+1=0 &, a’rx+%a-7rmaa=ar ¥

Options:
1)7

2)3
3)51

4) 47

Correct Answer: 7
Candidate Answer: 7
QID:132-

If %2 - 2410%+1=0, then what is the value of x—%?

afg 2 -210x+1=0 7, ar x—% F AT FAT E2
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Options:

1)4

2)6

3)3

4)5

Correct Answer: 6
Candidate Answer: 6

QID:133-
if 3X—1+5y—1‘__72—1=01then what is the value of
X Y z
1:tuls
Xy 2

3x-1 5y-1 7z-1

1. 4. 1
=0 i g
'g‘ﬂ'.?-n‘x+y ZEFI'

X ¥ z
AT T &7
Options:
1)-3
2)0
3)15
4) 21

Correct Answer: 15
Candidate Answer: 15

QID:134-
If x2— 3x + 1 =0, then what is the value of x* + 2
X

afEgx2-3x+1=0%, ar x‘—-jTWHTHEFHT%?
X

Options:
1) 11

2) 18
3)47

4)51
Correct Answer: 47
Candidate Answer: 47

QID:135-

(a? ~b?)(a-b)-(a-b)’
What is the value of —~ — ?
ab-ab
(e +b2)(a-b)-(a-b)’
a’b —ab’

HIF FI7 82

4)2
Correct Answer: 2
Candidate Answer: 2

42/57
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QID:136-
In the given figure, O is the center of the circle, ZPQR
=100%and ZSTR = 105°. What is the value (in
degrees) of LOSP?

& magle F O & & & ZPQR=100° T
ZS8TR=105° %| ~OSP & AT (Bah #) =27 &2

N 5
T
Options:
1)95
2)45
3)75
4) 65

Correct Answer: 65
Candidate Answer: [ NOT ANSWERED ]

QID: 137 -
In the given figure, EF = CE = CA, what is the value
(in degrees) of LEAC?

& o€ gl &, EF=CE=CA%, ot ZEACTH =17

(e #) T gom?
D'».
96°
/' |I .
|\
/ I|l ,
\
B A E E
Options:
1) 58
2) 64
3)72
4) 32

Correct Answer: 64
Candidate Answer: 64

QID : 138 - If length of each side of a rhombus ABCD is 16 cm and 2ABC = 120°, then what is the length (in cm) of BD?

T FATGI ABCD & Teii 3o 1 oo ars 16 WY, § FUT 2ABC = 120° ¥, 7 BD #r awarg (A, #) F#w gniry

43/57
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Options:

1) 24

2)12

3)16

4) 14V3

Correct Answer: 16
Candidate Answer: 16

QID : 139 - In an isosceles triangle PQR, £P = 130°, If I is the in-centre of the triangle, then what is the value (in degrees) of 2QIR?

U FHETATE P POR #, £P = 130°. &1 f2 1 Fsgsr o1 sreer-dbeg €, o £QIR o1 a1rer (Fot 31) wramr @

Options:
1) 130
2) 120
3) 155
4) 165

Correct Answer: 155
Candidate Answer: 155

QID : 140 -
In the given figure, O is the centre of a circle of radius
13 ecmand AB is a chord perpendicular to OD. If CD =
8 cm, then what is the length (in cm) of AB?

& @ g A Ovs o orady Rswr 138 &
& g & FWr AB, ODF wFdad TWF Sar ¥ afe
CD=8 w3 @, a AB & oas (WA, #H) &=
22

Options:

1) 6cm

6 WH

2) 12 cm

1234

3) 24 cm

24 4.4

4) 28 cm

2885

Correct Answer: 24 cm
24 A

Candidate Answer: 24 cm
24 A

QID : 141 -
15sin’ ©-3¢0s’ 0,
5sin0+3cos’8

Iftan@ = %, then what is the value of

2 2
f tan 6 = 2 % 15sin“ 6-3cos" B

— &l AT T &7
5sin’0+3cos? B o
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Opticns:
1

33
32
2
11
E
3
33
E
4
11
32
Cotrect Answer:
33
47
Candidate Answer:

33
47

QID : 142 - If V5 tan & = 5 5in @, then what is the velue of (sin? 8 - cos? 6)?

HEVStan 8 = 5 sin 8 ¥, 7 {sin? 6 - cos? @) F A =M EP
Optons:

1) 35

2)1/5

3)4/5

425

Correct Answer: 3/5

Candidate Answer: 3/5

QID :143 -
What is the simplified value of
7 3

——+————+4sin”B7?
sec“ @ frcotcO

7 3 .3
—_—t— 44 BEFI'?RHI@FI A T &7
5ec20  Ascot?0 sin ¥

Options:
13

2)4
35

N7
Correct Answar: 7
Candidate Answer: 7

QID : 144 - Twg posts are 4 m apart. Both posts are on same side of 2 tree. If the angles of depressions of these posts when observed from the top of the tree are
459 and 607 respectively, then what is the keight of the tree?

2 @9t & T Fr gl v E) At T U2 F1 v & 3 Al O R I F 2@ T S 3 Gt S0 AGAHA FI0 FAR: 457 FUT60° §, A 93 Fr 3w Read @2
Opticns:

DVI+1

DHVIV3I+ 1)

D2AVI+ 1)

4 WIHVI+1)

Correct Answer: 2{v3 + 1)

Candidate Answer: 4Y3(V3 + 1}

45/57
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QID : 145 - If cosec B + 3 sec B = 5 cosec B, then what is the value of cot 8?

AT cosec B + 3 sec 8 = 5 cosec 8 §, A cot B F1 7T F1 §7
Options:

1) 4/3

2) 3/4

3) V3

4)v3

Correct Answer: 3/4

Candidate Answer: 3/4

QID : 146 -
The given pie chart shows the runs scored by 5
players in a match.

fon ow g@ o & 5 fyenfsal T e 7w & A
T T B

Yuvraj/

AT, 82

Sharma/

Kohli/

g, 102

The runs scored by Kohli are how much percent more than the runs scored by Sharma?

FIEHT EFNT FATC AT T AT @R FAW AT A F B wioa vt §2
Options:
1) 100

2) 33.33
3) 66.66

4) 50
Correct Answer: 50
Candidate Answer: 50

46/57
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QID : 147 -

The given pie chart shows the runs scored by 5
players in a maich.

fer o ga g 3 5 enf3at e’y a9 9w = A
gt wrm ¥

Yuvraj/

T, 82

Kohli/
FIgaT, 102

Runs scored by Kohli is what percent of runs scored by Yuvraj?

el GENT FATT T I YTt & oAl o Frar widere &2
Options:
1) 12439
2)134.21
3) 11313
4) 126.67

Correct Answer: 124,39
Candidate Answer: 134.21

QID : 148 -
The given pie chart shows the runs scored by 5
players in a match.

R s g R & 5 Ren3at grr ger o & A
g T &

/" Pujara/ Yuvraj/
IoIr, 76 g, 82

¥

Sharma/

Runs scored by Pujara is what percent of total runs scored by these 5 players?

GEART ZART &ATC 31T T § 5 Faenfaat qamy @ v Fo @ & s sfawrd @2

Igr:dl, [

47157
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Options:

1) 25

2)30

3)20

4)23

Correct Answer: 20

Candidate Answer: 20

QID : 149 -
The given pie chart shows the runs scored by 5
players in a mafch.

e s g7 R F 5 Ref3ar = gaw 7w & &
garrar T ¥

Pujara/ Yuvraj/
T 76 | gqarer, 82
9;:’:,""165; Kohli/
! Fgal, 102
Dhoni/

What is the central angle (in degrees) made by the sector of runs scored by Yuvraj?

TS & TAAT & 819 & @R a=ran aa S Fvor (B &) w2
Options:
1) 77.68
2) 74.64
3)72.12

4) 79.34
Correct Answer: 77.68
Candidate Answer: 77.68

48/57
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QID : 150 -
The given pie chart shows the runs scored by 5
players in a match.

for o = A F & At o = o = o
Zoirar o &)

Kohlif
Figlt, 102

If runs scored by Rakane is 50% of the runs scored by Yuwraj, then runs scored by Rahane Is what percent of total runs scored by Kohli, Pujara and Dhoni?

T TETEY ETRY AT 1Y T Y0 ZFRN 00 AE T & 50 TRrard &, 7 T7eT Z@R7 S I T Prgrel), Ty 4 S 3R 3 A0 FR 0 F B ghRa 2

Optons:

1) 1641

2)17.82

3)18.92

4) 16.31

Correct Answar: 17.82
Candidate Answer: 17.82

QID : 151 - In the follewing question, same part of the sentence may have emors. Find cut which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Mr. Mukesh Bhatnagar our (1)/ colleagus he will attend (2} the meating on our behalf. (3)/ No Error (4)
Options:

11

5?2z

33

44

Cotrect Answer: 2

Candidate Answer: ?

QID : 152 - In the following question, some part of the sentence may have emars. Find out which part of the sentence has an error and select the appropriate
option. If a seatence is free fram error, select 'Nea Ermor’,

As soon as I wil reach (1)/ Delhi I will send you {2}/ the books you have asked for, (1) No Error (4)
Options:

1)1

22

33

44

Correct Answer: 1

Candidate Answer: 1

QID : 153 - In the following question, some part of the sentence may hiave errors. Find out which part of the sentence has an error and select the appropnate
oftion. 1If a sentence is free from errpr, sekect ™o Errot’.

As ] sec it, he appears (1)} to be unreasonable anxious (2)/ about pleasing his wife. (3} No Ermor (4)
Options:

11

22

N3

434

Corract Answat: 2

Candidate Answer: 2
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QID : 134 - In the following question, some part of the sentence may have emrors. Find ouk which part of the sentence has an erfer and select the appropriate
option. If a sentence is free from error, select 'No Ermor'.

I finished my assignment before we (1)) reached his wedding with great (2)/ difficulty because of heavy traffic. (3)f No Error (4)
Options:

1)1

il

N3

44

Corract Answar: 1

Candidate Answer: 1

QID : 155 - In the following question, some part of the sentence may have emors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

We wara living (1)/ in Canada for {2)f around aight yaars. {2)/ No Error {4)
Options:

11

2z

N3

a4

Correct Answer: 1

Candidate Answer: 1

QID : 156 - In the following question, the sertence given with blank to be filled in with an appropriate word. Select the correct attemative out of the faur and
indicate it by selecting the appropriate option.

Bacause of the bad weaather we had to stay the hotel.
Options:

1yin

X) off

3} abowve

4) an

Correct Answer: in

Candidate Answer: in

QID : 157 - In the following question, the sentence given with blank to be flled in with an appropriate word. Select the correct altemative out of the four and
indicate it by selecting the appropriate option.

You should comply ______ my requast.
Options:

1}in

2) off

¥ with

4] on

Correct Answer: with

Candidate Answer: with

QID : 158 - In the following quastion, the sentence given with blank ko be filled in with an appropriate word, Select the correct altemative qut of the four and
indicate it by selecting the appropriate option.

Suresh has joined a course.
Options:

1) two year's

2) two years

3) twey year

4} o years

Correct Answer: two year
Candidate Answer: two year's

QID : 159 - In the following question, the sentence given with blank to be filed in with an appropriate word. Sefect the carrect attemnative put of the four and
indicate it by selecting the appropriate aption.

Information the manager had was not enough,
Options:

1) Very (itte

2) A little

3) Little

4) The little

Cotrect Answer: The little

Candidate Answer: A lithe

QID : 160 - In the following question, the zentence given with blank to be filled in with an apprapriate word. Select the correct altemative out of the four and
indicate it by selecting the appropriate option.

tis that those who expect clemency from others are seldom merdful themselves,

S057


http://www.sarkariofficer.com

.gradeup.co
WWw.g up ﬁgrada i

01/0842017 Staff Selection Commision

Options:

1) paradoxical

Z) strange

3) stupid

4) repulsive

Correct Answer: paradoxical
Candidate Answer: paradoxical

QID : 161 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Ineluctable

Options:

1) conguerable

2) irremovable

2) achievable

4) surmpuntairle

Correct AnSwer: ifremovable
Candidate Answer: imemovable

QID : 162 - In the following question, out of the four alternatives, select the word similar in meaning to the word given,

imical

Options:

1) untidy

2) harmful

3) funny

4) tial

Correct Answer: harmful
Candidate Answer: harmful

QID : 163 - In the following question, out of the four alternatives, select the word similar in meaning to the word given.

Nugatory

Options:

1) futile

2) ruptuce

3 reugh

4q) tardy

Correct Answer: futile
Candidate Answer: futiie

GQID : 164 - In the following question, out of the four alternatives, select the ward similar in meaning to the word given,

Spruce

Optiens:

1] lethargy

2) smart

3) deserving

4) eager

Correct Answer: smart

Candidate Answer: smart

QID : 165 - In the following question, out of the four alternatives, select the word similar in meaning te the waord given,

Moribund

Optiong:

1) chaes

2) conclusive

) virtue

4) dying

Correct Answaer: dying
Candidate Answer: dying

QID : 165 - In the following question, out of the four alternatives, select the word apposite in meaning to tha word given.

Nustrious

Options:

1) doubtful

2) sophisticated

3] stormy

4) gbscure

correct Answer: abscure
Candidate Answer: chsoure

QID : 167 - In the following question, out of the four alternatives, selact the word opposite in meaning to the word given.

Impudent
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Options:

1) anxious

2Z) polite

3) cautious

4 reckless

Correct Answer: polite
Candidate Answer: polite

QID : 168 - In the following question, out of the feur alternatives, select the word opposite in meaning to the word given.

Palatial

Options:

1) partial

2) poor

2) infertile

4) lean

Correct Answer: poor
Candidate Answer: poct

QID : 169 - In the following question, out of the four alternatives, select the word opposite in meaning to the ward given,

Pemicions

Options:

1) wicked

2) hinder

3) kind

4 ignorant

Correct Answer: kind
Candidate Angwer: kind

QID : 170 - In the following question, out of the four alternatives, select the word opposite in meaning to the ward given.

Zony

Options:

1) serious

2) constant

3) nadir

4] saparate

Comrect Answer: serious
Candidate Answer: constant

QID : 171 - In the following question, out of the four alternatives, select the altermative which best expresses the meaning of the idiomyphrase.

Chicken hearted

Optiens:

1) Scholar

2) A useless man

3) Timid

4 Shocked

Correct Answer: Timid

Candidate Answer: Timid

QID : 172 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase,

Down and out

Optiong:

13 Mad

2} Jealousy and Envy

3) Futility

4) without meney

Correct Answer: Without money
Candidate Answer: Without money

QID : 172 - In the following question, out of the four alternatives, select tha alternative which best ewpressas the meaning of the idiom/phrase.

High and Low

Options:

1) Everywhere

2) Qptimism

3} Hypocrisy

q) Experiance

Correct Answer: Everywhare
Candidate Answer: Everywhere

QID : 174 - In the following question, out of the four alternatives, select the altemative which best expresces the meaning ef the idlom/phrase,

A damsel in distress
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Options:

1) A helpless woman

Z) An ugly womnan

3) A woman whase husband is temporarily away from her

4} A strong lady whe can cope with all difficult situations easily
Correct Answer: A heloless woman

Candidate Answer: A helpless wornan

QID : 175 - In the following question, out of the four alternatives, select the alternative which best expresces the meaning of the idiom/phrase.

Godl's ape

Options:

1) As strong as god

Z) A bomn fool

3} A knowledgeable person
4) Kind hearted person
Correct Answer: A born fool

Candidate Answer: As strong as god

QID : 176 - Improve the bracketed part of the sentenca,

Since 2009, there {Is) no cyclone there,
Options:

1) are

2} has been

3) were been

4) no improvemeant

Correct Answer: has been
Candidate Angwer: has been

QID : 177 - Improve the bracketed part of the sentence.

Nisha probably {would have caught} up the bus by now.
Options:

1) must have caught

23 will catch

3} shall have caught

4) no improvement

Correct Answer: no improvernent

Candidate Answer: no improvement

QID : 178 - Improve the bracketed part of the sentence,

Right knowledge is a {strong} instrument for moulding the character of the young.

Opticns:

1) powerful

2) potent

3 striking

4) no improvement
Correct Answer: powerful
Candidate Answer: potent

QID : 179 - Improve the bracketed part of the sentence.

Mr. Olzrke fhad staying) here since 2005 and has made Indiz his home.
Optiong:

1) was to stay

2} is staying

3) kas been staying

4) no improvement

Correct Answer: has been staying

Candidate Answer: has been staying

QID : 180 - Improve the bracketed part of the sentance.

My sister said that it sometimes ook her one hour to {put) her make-up.
Options:
1) putup
2) put on

3 put over
4} no improvement

correct Answer: put on
Candidate Answer: put on

QID : 181 - In the following question, out of the four alternatives, select the altemative which is the best substitite of the phrase.

Ceremony of crowning a king
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Options:

1) catharsis

2) purgation

3 cannibal

4} coronation

CoHrect AnSWer: coronhation
Candidate Answer: coronation

QID : 182 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase.

Substitution of a mild for a very blunt expression
Options:

1) euphemism

2} tsuism

3) hymn

4) calumny

Correct Answer: euphemism
Candidate Answer: [ NOT ANSWERED ]

QID : 183 - In the following question, out of the four alternatives, select the altemnative which is the best substitute of the phrase.

Belief that war and violence are uhjustified
Options:

1) philistine

2) pacifism

3) icanodiastic

4) sanatorium

Correct Answer: pacifism

Candidate Answer: [ NOT ANSWERED ]

QID : 184 - In the following question, out of the four alternatives, select the altemative which is the best substitute of the phrase.

One who goes for a secret official mission
Options:

1) epicurean

2) emissary

3) celibate

4] rogue

Correct Answer: emissary

Candidate Answer: emissary

QID : 185 - In the following question, out of the four alternatives, select the altermative which is the best substitute of the phrase.

Centre of attraction
Opticns:

1) hedonist

2) cynosure

3) debauch

4) epicure

Correct Answer: cynosure

Candidate Answer: cynosure

QID : 186 - In the following question, four words are given out of which one word is incorrectly spelt. Sefedt the incomrectly spek word,

Options:

1) architecture

Z) appropriste

) apprediation

4) arkhmatic

Corract Answer: arithmalic

Candidete Answer: arithmatic

QID : 187 - In the following question, four words are given put of which one word is incorrectly spelt. Sefect the incorrectly spel word.
Optons:

1) equillibrium

I auxiiary

3) battalion

4] differentiate

Corvect Answer: equillibripm

Candidate Answer: equillibrium

QID : 188 - In the following question, four words are given out of which one word is incorrectly spelt. Select the incorrectly spak ward.
Optigns:

1) exasparation

2) exaggeration

3) eradication

4) eguivocation

Correct Answer; exasparation

Candidate Answer: exasparation
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QID : 189 - In the following question, four wards are given aut of which one word is incorrectly spelt. Select, the incorrectly spek wiard.
Options:

1) intelligence

2) identically

3) inflameble

4} imrmediately

Correct Answer: inflameble

Candidata Answer: inflameble

QID : 190 - In the following question, four words are given out of which one word is incorrectly spelt. Sefect the incarrectly spek word.
Options:

1) janitar

&) grdinarily

3) inschreity

4) psychometric

Correct Answer: insobreity

Candidata & Byt i

R Y

QID : 191 - In the following passage some of the words have been left out. Read the passage carefully and select the comrect answer for the given
blank out of the four alternatives,

Our ponstitution is named , because it is in the hands not of the but of the many. But our laws secure equal for all in their private disputes and
our public opinion welcomes and talents in every branch of achievement. And as we give free play to in our public life, so we carry the same spirit into
our daily relation with one another.

Qur constitution is named » because
Dptions:

1) democracy

2) aristocracy

3 plutecracy

4) theocracy

Correct Answer: demacracy
Candidate Answer: democracy

QID : 192 - In the following passage some of the words have been left out. Read the prasage carefully and select the correct answer for the given
blank out of the four alternatives.

Qur aonstitution is named , because it is in the hands not of the but of the many. But our laws seaure equal for all in their private disputes and
our public apinion welcomeas and takents in every branch of achievement. And as we give free play ta in our public life, so0 we carry the same spint into
our daily relation with one another.

it i in the hands not of the but of the many.
Qptiona:

1) liberals

2} little

3) few

4] pecple

Correct Answer: few

Candidate Answer: few

QID : 193 - In the following passage some of the words have been left out. Read the passage carefully and select the cotrect answer for the given
blank out of the four alternatives,

Our constitution is named . becavse it is in the hands not of the but of the many. But our laws secure equal for all in their private disputes and
our public opinion welcomes and talents 1 every branch of achievernent, And as we give free play to i our public fife, s0 we carry the same spirit into
our daily relation with ane angtier.

But our laws secure equal for all their
Options:

1) remuneration

2] justice

3) rightts

4) power

Correct Answer: justice

Candidate Answer: rights

QID : 194 - In the following passage some of the words have been left out. Read the paasage carefully and select the correct answer for the given
blank out of tha four alternatives.

Our constitution is namad ; because it is in the hands not of the buk of the many. But our laws secure equal for all in their private disputes and
our public opinion welcomas and talents in every branch of achievement. And as we give free play to in our public lifie, 50 we carry the seme spirit into
our daily relation with one another.

public opinion welcomes and
Options:

1) hurnikate

Z) judge

2} neqotiate

4) honours

Cotrect Answer: honours

talerts in every branch
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Candidate Answer: honours

QID : 195 - In the following passage some of the words have been left out. Rend the passage carefully and select the correct answer for the given
blank out of the four alternatives.

Qur menstitution is named , because it is in the hands not of the
aur public opinion velcomas and talents in every branch of achievement. And as we give free play o
our daily relation with one another.

but of the many. But our laws secure equal for all in their private disputes and
n gur public life, so we carry the same spirit into

And as we give free play tn in owr public kfe,
Options:

1) some

2all

3) few

q) little

Correct Answer: all

Candidate Answer: all

QID : 196 - A passage is given with five quastions following it. Read the passaga carafully and selact tha bast angwer to sach question out of the
given four alternatives.

Corruption is not a uniquely Indian phenomenon, [t is witnessed all aver the world in developing as well as developed countries. It has spread its tentacles i every
sphere of life, ramely business administration, politics, oMgaldom, and services. [n Pact, there is hardly any sector which can be charattensed for not being infected
with the vices of corruption. Corruption is rampant in every segment and every section of society, barring the social status attached to it. Nobody can be considered
free from corruption from a high ranking officer.

To root out the evil of corruption from society, we need to make a comprehensive code of conduct for politicians, legislatures, bureaucrats, and such code should be
strictly enfarced, Judiciary should be given menre independence and iniiatives on issues related to corruption. Special courts should be set-up to take up such issues
and speedy trial is to be promoted. Law and order machinery shoukd be allowed to work without political interference. NGOs and media should come forward to
create awareness against corruption in sockety and educate people to combat this evil. Only then we would be able to save aur system from being collapsed.

Aexording to the passage where does comuption has spread its tentacles?
Options:

1) officialdorn

2 politics

3 husiness ad ministration

4 All of these

Correct Answer: All of these

Candidate Answer: All of these

QID : 197 - A passage is given with five questions following it. Read the passage carafully and se!ect the best answer to each question out of the
given four alternatives.

Corrupkion is not a unigualy [ndian phenomenon. [t is withessad all ovar the world in develaping as well as developed countries. It has spread its tartacles in every
sphere of life, namely business administration, politics, officialdom, and services. In fact, there is hardly any sectar which can be characterised for not, being infected
with the viges of corruption. Corruption is rampant in every segment and every section of society, barring the social status attached to it. Nobody can be considered
free from corruption from a bigh ranking officer.

To oot out the evil of cormuption from sockety, we need to make a comprehensive code of conduct R polticians, legislatures, bureaucrats, and such code should be
strictly enforced. Judiciary should be given mare independence and initigtives on issues relpted o corryuption. Special courts should be set-up b take up such Issyes
and speedy trial Is to be promoted. Law and order machinery should be allowed to work without politcal interference. NGOs and medla should come forward to
create awareness against corruption in society and educate pecple to combat this evil. Only then we would be able ko save our system from being collapsed.

What kind of status is being bamed by the comuption?
Optians:

1) social

2] economic

3) mental

4) physical

Comract Answer: sodal

Candidate Answer: social

QID : 198 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

Corruption is not a uniquely Indian phenomenon. It is witnessed all over the world in developing as well as developed countries. It has spread its tentacles in every
sphere of life, namely business administration, politics, officialdom, and services. [n fadt, there is hardly any sector which can be characterised for not being infected
with the vices of corruption. Corruption is rampant in every segment and every section of society, barring the social status attached o it. Nobody can be considered
free from gorruption from a high ranking officer.

To reet out the evil of corruptian fram society, we need to make a comprehensive code of conduct for politidans, legislatures, bureancrats, and such code should be
sirictly enforced. Judiciary should be given maore independence and initiatives on issues related tn conruption. Spedial courts should be set-up to take up such issues
and speedy frial is to be promoted. Law and order machinery should he allowed to work without political interference. NGOs and media should come forward to
create awarenoss against cormoption in society and educate peaple to combat this evil. Only then we would be able to save our systern from being collapsed.

According to the passage, who is free from corruption?
Qptions:

1} high ranking officers

2) politicians

3) bureaucrats

4) Nane of these

Correct Answer: Mone of these

Candidate Answer: None of these
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QID : 199 - A passage is given with five questions following it. Read the passage carefully and select tha bast answer to aach question out of the
given four afternatives.

Corruption is not a uniquely Indian phenomenon. It is witnessed all gver the world in developing as well a5 developed countries. It has spread its tentacles in every
sphere of life, nramely business administration, politics, officialdom, and services. In fact, there is hardly any sector which can be characterised for not being infected
with the vices of corruption. Corruption is rampant in every segment and every section of society, barring the social status attached to it. Nobody can be considered
free from corruption from a high ranking officer.

To root out the evil of conuption from society, we need to rnake a comprehensive code of conduct for politicians, legislatures, bureaucrats, and such code should be
sirictly enfarced. Judiciary shauld be given more independence and initiatives on issues related ta corruption. Special courts should be set-up to take up sudh issues
and speedy trial is to be promoted. Law and arder machinery should be allowed to work without political interference. NGOs and media should come forward to
create awareness against corruption in socety and educate people te combat this evil. Only then we would be able to save our system from being collapsed.

Which of the following measure is not mentioned in the passage to root out the evil of comruption from society?
Options:

1) private sector should create awareness against corruption

2) media should come forward to create awareness and educate peaple to combat this evil

3) judiciary to be given more independence ard initiative in relation ta carruption

4) comprehensive code of conduct far pdliticians, legislatuse and bureaucrats

Correct Answer: private sector shoukd create swareness against corruption

Candidate Answer: comprehensive code of conduct for politicians, legislature and bureaucrats

QID : 200 - A passage is given with five questions following it. Read the passage carefully and select the best answer to each question out of the
given four alternatives.

Corruption is not a uniquely Tndian phenomenion. Tt ks withessed all over the world in developing as well as developed countries. It has spread its tentacles in every
sphere of life, namely business administration, politics, officialdom, and services. [n fact, there is hardly any sector which can be characterised for not being infected
with the vices of corruption. Corruption is rampant in every segment and every section of society, barring the social status attached to it. Nobody can be considered
free from corruption from a bigh ranking cfficer.

To reot out the evil of corruptian from society, we need to make a comprehensive code of conduct for politicdans, legislatures, bureaucrats, and such code should be
sirictly enforced. Judiciary should be given more independence and initiatives on issues related o corrupticn. Spedal courts should be set-up to take up such issues
and speedy trial is to be promoted. Law and order machinery should be allowed to work without political interference. NGOs and media should come forward to
create awareness against corruption in society and educate pecple to combat this evil. Only then we would be able te save our system from being oollapsed,

Aceording to the passage, which of the following is INCORRECT?

Options:

1) corruption is prevalent only in developing countries

2) corruption is rampant n every segment and section of sadety

3) to combat corruption, law and onder should be allowed bo work without poliical interference
4) cornuption is not a uniquely Indian phenomena

Correct Answer: cormuption is prevalent only in developing courtries

Candidate Answer: carrupdon is prevalent only in developing countries
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